
REAR HUGGER ADAPTABLE TO BMW F650GS 
REF:5925 
 
 
                                                                                                                                                                     
/INSTRUCTIONS TO ASSEMBLE 
      -1. Dismount the original chainguard. 

-2 Mount the hardware (1) supplied as the figure below shows (it is supplied adhesive foam to place in the interior of the bridle 
as a proctetion of the swing arm) 
 
-3. Mount the wellnuts (5) on the rear hugger.  
 
-4 Tight the rear hugger  using the M6x15 (2) screws supplied. Adjust it through the regulation that the hardware offer. 
 
-5 Check them periodically, and tighten the fixations. 
 
-6 In case your motorcycle has other accessories, observe that it does not interfere with the hugger. 
 

Material supplied to assemble the hugger: 

POS.   DESCRIPTION 
 
CANT. / QTT. 

   1 Hardware  1 
   2 Black M6x15 screw DIN1001 5 
   3 Black M6x10 screw DIN1001 1 
   4 M6 Nut DIN6923 2 
   5 Wellnuts 4 
   6 M6 insidenuts 2 
   7 Adhesive foam 1 

 

        
 
 

 
 
 


	POS.
	  DESCRIPTION
	   1
	Hardware 
	   2
	Black M6x15 screw DIN1001
	   3
	Black M6x10 screw DIN1001
	   4
	M6 Nut DIN6923
	   5
	Wellnuts
	   6
	   7

